Ap. Npwr. : 174
§ Hp/via : 03/01/23

AHMOZX AIFTAAEQ: AMAZXOAHZH MNMPOZQMNIKOY ME ZXYMBAZH OPIZMENOQY XPONOY
TMHMA MINAKAZ KATATAZHZ & BAGMOAOTIAZ
AGAHTIZMOY
NPOFPAMMA KQAIKOE AMAZXOAHZHE: 01
AOAHEH TMA 103 NTYXIOYXOI ®dYZIKHZ AIrQrHz EIAIKEYZH : ANEZAPTHTOY EIAIKOTHTAZ
OAQYS ME BASH
ZTOIXEIA YINOWH®ION - MOPIOAOTHZH
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ETTIKOYPIK| [ |
60786 |KAD|MAN{ ANAINAI|{OXI A 7,19 [OXI|oxI|oxi 12 16 15 0 0,00}1,00(0,72] 0,00 |0,00 0,00 26,70 |28,42
ETTIROYPIR
61920 |IMAP|F'EQH KQN]NAI|{OXI A 6,92 [ OXI|OXI|oxI 5 15 16 12 0,0011,00(0,69| 0,00 |0,00 0,00 23,40 25,09
ETTROYPIR
62234 |AEMIAAE] TEQH NAI|{OXI A 5,94 |oxi|oxi|oxI| 1 8 15 9 6 0,00} 1,00]0,59| 0,00 [0,00 0,30 21,10 (23,29
ETTIKOYPIK
62078| ZIN| XPI] IQANOXI|NAI A 6,22 [OXI|oxI|oxi 1 6 15 7 0,0011,00(0,62| 0,00 |0,00 0,50 17,30 119,92
ETTIROYPIK
62480 |ZTAN IQANAHME NAI| OXI A 7,25 |OXI|OxI|oxi 16 2 0,0011,00(0,73] 0,00 |0,00 0,00 10,60 112,33
ETTIROY
62237 XAT| EIP| MAN/NAI{OXI| PIKA 6,95 | oxi| oxi|oxi 8 0,00} 1,00/0,70] 0,00 [0,00 0,00 6,40 | 8,10
ETTIKOY
62479| MET ZTY(EMM/NAI|OXI| PIKA 7,79 | ox1| oxi|NAI 0,0011,00(0,78| 0,00 |0,00 2,00 0,00 | 5,78
ETTROYPIK
61842| NIKI©OEO[AHMROXI|OXI A 6,80 | OXI[NAI|OXI| 2 0,0011,00(0,68| 0,00 |2,00 0,60 0,00 | 4,88
ETTKOYPIK
61072 |KEPIAHM[ XPH] NAI|{OXI A 6,67 [OXI|OXI|oxI 3 0,0011,00(0,67| 0,00 |0,00 0,00 2,40 | 4,07
ETTROYPIR
62236 |ZTAN MIAT AT NAI|{OXI A 6,36 |OXI|OXI[OXI| 1 0,00} 1,00]0,64| 0,00 [0,00 0,30 0,00 | 2,24
ETTIKOYPIK
62406 |KOY|ZMYH BAZI NAI| OXI A 7,47 [OXI|oxi|oxi 0,0011,00(0,75] 0,00 |0,00 0,00 0,00 | 1,75
ETTIROY
61843 |MAP|EAEN NIK{NAI|NAI| PIKA 6,90 | oxi| oxi|oxI 0,0011,00(0,69| 0,00 |0,00 0,00 0,00 | 1,69

O AHMAPXOZ

IQANNHZ IKIKAZ
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